112 EMEZARRXTERBESES TS L FRER
RRIFBRZ(TENZE S

— - EXEE

ki Ha Be
1 HEAERERNEBIRAGE 1,300,000
2 aAEsRnBERASE 1,300,000
3 EENBERNHBIRAT 1,300,000
EXEE 85 3,900,000

— -~ Z{TEER
1~ B37ERFHCHEEES
BB\ R KB R ITERE LR

i e =2E
1 R 165,000
2 S=3=1 85,000
INEt 250,000
EH/RERER
i e =2E
1 000 35,716
2 ARE 35,714
3 RUNRE 35,714
4 TRE 35,714
5 SRR 35,714
6 2 35,714
7 PR = 35,714
INEE 250,000
B H/AERER
AR e =2E
1 ] 50,000
2 SRILYE 50,000
3 15 50,000
4 bR = 50,000
5 PFE 50,000
N5t 250,000
=5 /B R EIRE R
AR e =2E
1 IR 125,000
2 El=E 125,000
INEt 250,000
XFE/RERBE
AR % B2E
1 ZEX] 70,000
2 HEEF 90,000
3 PR 1= 90,000
INEt 250,000
XF/AERERE
AR %2 =2E
1 =5 150,000
2 SR 100,000
INEE 250,000
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XL/ EREREE

E S il

A IR Ha BE
1 ByeE 150,000
2 g 50,000
3 R 50,000
INET 250,000
HEER R
A IR "2 BE
1 (R 250,000
INET 250,000
BENEREE/ R
A 57 " Be
1 EuiE 16,000
2 85,5812 16,000
3 21218 16,000
4 BEE 4,000
5 =BR 4,000
6 MBEF 4,000
Vet 60,000
BEMBREE/BE—
A 57 " Be
1 MEX 8,000
2 MELF 6,000
3 7 6,000
Vet 20,000
BEMBREE/BE"
Am 51k Ha BE
1 FHEE 6,666
2 REFS 6,667
3 THE 6,667
Vet 20,000
FI7ERFMEREE 55 2,100,000
2 EXEHEE
ki Ha BE
1 RS E RS2 S EEH EE 10,000
2 WCABHEASSHEEEED) 4,000
3 REHEERERESEE 315,000
4 F20EPEASBHERENS 50,000
5 E2EB AN EEE 30,000
BEEHNEE S5t 409,000
= {(JEEBN4RE 2,509,000
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